Ratio to ALICE

10?

10

1071

1072

7000 GeV pp Soft QCD
[ T I T I T I T I T | T I T I T I T I T | I T I T I T I T |_
L pT (") + pT(m) (alice2015-y0.5) —
=  m ALICE =
—  --O-- Herwig 7.2.0 default .
- —&— Pythia 8.212 default —
- ¢ Sherpa 1.4.1 default .
: | | | | | — | | | | | [ | [
: T T T T | T T T T | T T T T |:
- +400 -
: " ...... :
B v = __EE-I-_-l—ITI-L_—I—EI'E'B‘E'D_

CRgp oo EaEEs _
" 1 1 1 1 " | " 1 1 1 1 " | " 1 1 1 1 " |
0 1 2 3

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


